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hwnpyh dwlwpnwyny, - 3-pn
hwplh dwdlp gpbipt
wdpnnonipjwdp pugwlwjnud
L
Yhuwlwnnygp qunuynud |
pwnwph YEunpnuwluwu
hwndwénud, puwlytih
2tiuptipny Yunniguuwwinyws
pwnwdwuntd:“huwlwnnygp
ulyninwhu hwpyny, dky Unwgwnlynud £
dnunpny hwunwlwgdnud Yhuwlwnnygu
ninnwulniuwsle , 17.0 X30.5 d wywpuht hwuguby Updwyhph
2| 2| P Undwdnn, Unnubpunpy | ey 1988 puwluithg | oy | WUPWUnUR nnutu 3 518.5 1555.5 285,175,000 492,575,000 207,400,000 | dnaubunuil <<
Epluwtjwu thnnng htitnn wuwywpn duwgws 3-pn hupluth 4U punwpwhtnipjwl
2huneyniu £ Lliphu puqUwpbwYwPWY yhnwluu Yyndhunk
Yhbwlynud  Yunnmgyws puwligh gbup:
2uph 2 huinlyp, 3-pn huinlyh
wwwnbipp hpwhwuwgyws Gu
1.8 d pwpapnipjudp:  Shuph
1-hu U 2-pn hwplybiph
wnwudhu ubujwyubip
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Yhuwlwnnygp qunuynud
udwuwwnhy 2kuptipny
Yunniguwywunyws
pwnwdwund: Wu  uyninughtu Unwowplyynid
p. Updwdhp, hwpyny 4 dnunpny Yhuwlwnnygu Upduwdhph
Lw|pwunywu hwunwlwgdnud wpwwpu wywpuht hwuguby upqubnuput <<
3|3 thnnng. YUnnwbipwinhy ninnuiuyniuwal 50% 3 npybu 3 1260 3780 693,000,000 1,197,000,000 504,000,000 U punupuhunypjwl
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wuwnbipp:
Updwyhph
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Yhuwlwnnygp Gpyhwplwup
tpYynt dnunpny hwnwlwgdnud
ninuiulyniuwdl 12 X 28.0 4
swihtpny 1940 wlwu Unweuplynud £
pYwlwuubphu junnigjwsd Yhuwlunnygp
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Ywnnigyti| Gu gkuph wwwnbipp a I 2H0p:
dhwény| b/p gninhutiph htn L
dhghwpyuwjhu dwdybtipp: L
duwgh b wuwdupw:
Yhuwlywnnygp qunuynud k
qyninh YEuwnpnund
Yhuwlwnnygp pwpn
hwnwlwgdwihu nisdwdp
30.5 X 42.5 d punhwunip
swithtipny pwpwbu ohunipiniu
;- Wu ohuwpwpwlwu Unwgwpbnid &
nt$npdwghnu Yuwpwuutipny YhuwYwnnygp
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dwynyph tnntu nwhiht, GEdwupwh, 2-pn npwybiu YU pwnuwpwghunipejwu
phdwhwppwyp hp Gulnypuht whwnwlwu Yndhunk
uywuwpldwu hwdwnp Ybnpnu:
Uwfuwwnbujwsd inwpwdpubipny
b Epyhwpywuh Jupswlywu
hwnduwswdwu:LEpywynuiu
Ywnnigdws t Gpyhwplwup
dwutwbupp wnwug nwuhph,
dhwhwply hwindwdp wnwug
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Unp Updwdhp
qnunh nupngwlju
hwdwihph
wuwyuwpun
dwutiwgbup

<nyunwdtg,
Gplwwwu 17

Mbwnwlwu

Lwdwjupwjhu

“Yypngwlwu  hwdwihpp
pwnyugws k inwhwply
nwnwiuwywpswluw,
tpyhwpywuh /wuwdupw/
nwunwuwlwu, uynpnwht b
hwunhunupjniuutiph nwhihth
dwutwgbkuptiphg, npnup
hwnnpnuygynud Bu dhdjuug
dhwhwply wugwupwhnd,
Lbiphuynwu pwhwgnpdynid
bU: nupngh
nwnwiuwywnpswluw,
uwynpuuwghu nt
hwunhuntpjniubiph
nwhhubtiph Jwulwgbuptipp ,
wugwupwhp: Yhuwlwnnygp
gnpdnn nujpngwljwl
hwdwipph  12.6X 36.7 4
hwwnwlwgdwhu swihtipny
ohuntpyniu £ nwnuuwlwu
Jwutiwgbupp bwiulyhunwd tinky
t dly hwpluwuh, nph Jpw
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Iwgnighs 2-pn hwipyp b

Yhuwlwnnygp Gpyhwpywup
dbl dnunpny hwinwlwgdnud
12.5 x12.5 J swihtipny
ohunipyniu | Tupp 1988
pYwlwuhg htinn duwgt £
wuwywpun dhug wydd shu
hpwywuwgyws 2-pn hwpyh
ubippht hwpnwpdwu
wpfuwwnwupubipp,
nbnunpdud sku nnubkipu n
wwwnnthwuubipp:Cun npnud
otiuph 1-hu hwplu
wdpnnontpjwdp ogunwgndynud
t, npwbiu hwdwwnhpnuyejwu
qpwubiujwy:
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wupwdwpwn
3-pn

pujwpuwn
2-pn
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p,Bwdpwpul
S.Utsh 16
wuwywpwn gkuph
Yhuwulynin

Lwidwjupwjhu
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swthtpny 2huntpyniu k:
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wwubwihtu pwqdwhwply
puwybih gtup: Lpywjnidu
Ywnnigdws t okuph
Yhuwuyninp wnwug dwdlh:
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hwdwyphtu hwpwlhg
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9| 2 Yhuwlwnnyg Lwidwjupwjhu ninuiulyniuwsl 25% plulz{wnlup
Lytinkgh tpynt hwindwdwdwubiphg ghl
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Lbpywynwu wnlw Bu Yydwnph
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dwuwdp dwdlh uwibipp,
<& Qhinwppniuhph
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Yhuwlwnnigp hwinwlwgdnud
18.0 X 18.0 U swithtipny

Unwownlyynud £

Yhuwuyninny puwlbih Yhuwlwnnygu Qtinwppniuhph
p,Bwdpwpul 2huntpyniu £: Lkpyw yhwlynud , Pwywpuwp wywpubi nputiu dwpqubtinwpwu <L
2 S.Ubsh 29 Lwidwjupwjhu whwbwadws B Hbu 20% 2. fnwhuwn 324 972 210,600,000 307,800,000 97,200,000 U puinupuohunupjwl
n 9 2uUp) nn n 2nuntye)
Yhuwulyninp U dwuwdp pwqiwptwlwpuwu whnwlwu Yndhunk
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hwpyh wwwnh uwibipp:
p- duipnbhu 4860 1,020,600,000 |  1,539,000,000 518,400,000
(5 Yhuwlunnyg)
Yhuwlwnnygp
hwnwlwgdnwd pwnwlnwh Unwswiplnud £
18.0 X 18.0 d swithtipny
Wyninny, puwyb(h nwhwpy Yhuwlwnnygu Qbnwppniuhph
p | peswnnBUhu e upugh shtnueiniu E: Liplu goy | Fudwnwn | wdupabinputu |, o72 145,800,000 307,800,000 162,000,000 | Junautnupul - <<
Lknuwgnpdutiph 8 dh6ugnud Guinnigdws £ pbuph 2-pn nwhwpy YU pwnuwpwghunipejwu
tiptip hwipytipp, hhduwlwunwd pw%d:m;:ﬂ{;;pwh Wit yndhink
wnwug dwslh: Thupp puwytith 26Up
dJwuwdp puwlybgyws L :
Yhuwlwnnygp Unwownlyynud £
hwwnwlwgdnd pwnwlnwh Yhuwlwnnygu Qtinwnppniuhph
p. Ywpnkuhu 18.0 X 18.0 u swithtipny ) Pwywpuwp wywpunbi nputiu dwpqubtitnwpwu - <L
2 Quintigh 50 Cwdwjlpwht Wyt Ubplyas A6l 10% 2 bmuhunl 324 972 243,000,000 307,800,000 64,800,000 | punupuhtn el
Yuwnnigdws k gtuph uyninp pwqiwptwlwpuu whwnwlwu Yndhunb
wnuwug dwdljh: puwlybih gup
Yhuwlwnnygp hwuinwlywgdnud
pwnwlynwh 18.0 X18.0 d Unwownlyynud
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p. dwpnbupu k: Lbipyuw yhwynud . Pwywpuwp wywpunbi nputiu dwpqubtitnwpwu - <L
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hwplytipp hhduwywunud pwqiwplwlwpuwu whwnwlywu Yndhunk
wnwug dwdlh: Chupp puwlybih gup
dwuwdp puwytgyuws L :
Yhuwlwnnygp Unwownlyynud
hwunwlwgdnul pwnwlniuh Yhuwlywnnygu Slinwppntupph
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I otuph uyninp wnwug dwdlyh: puwlybih gtup




Yhuwlwnnygp Unwowplynud £
p. dwpntiuhu, hwunwlwgdnul pwnwlnwh Yhuwlywnnygu Qtinwnppniupph
Qupkugh 58 18.0 X 18.0 d iqpwswthtipny ) Pwywpwp wywpwnti| npytiu dwpqutitnwpuu - <L
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ulynin Ltipyw Jhbwynd unnigdwsd pwquwplwlwpuwt whnwlywu Yndhunk
I otuph ulyninp wnwug dwdlh: puwlybih gtup
(1 Uh% zm:mjg) 1890 409,500,000 598,500,000 189,000,000
Yhuwlwnnygp
hwwnwlwgdnud
ninnuuniuwsl 15.0 X 21.0
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p. Ulwu, Opbugn) d swihbpny, bpyne Yhuwlwnnygu Gtnunpnithph
pwnwdwuntd udwuwwnhy Jwutwytiupbiphg
Pwywpuwp wywpunbi npytiu dwpqubtitnwpwu <L
quuynn bpynt Mbwnwlywu pwnyugwd ghunipyniu L 20% 630 1890 409,500,000 598,500,000 189,000,000
wwu b 2-pn nwhwpy YU pwnuwpwghunipejwu
nn nhw dhGulmd Yunnigduws wqiwpuwlwpwu Guinwlwu Yndhunk
dwuuwpbuptip b dwfu dwutwpbiuph 2 P C{Jm phh hup “
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l we' dwutiwgbuph dhuwyu
ulyninp wnwug dwdlyh :
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2. Uunpwuhyh
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pPwnwdwu Lwidwjupwjhu Yhuwuwnng nlgnud £ 40% B fnwhuwnl 1180 3540 649,000,000 1,121,000,000 472,000,000 U punupwzhtnyejul
phy 6 Jjgp g nn n Punwpwzpuntpy
dhwudwu pkuptipny pwqiwplwlwpuwt whwnwlwu Yndhunk
Yunniguwywunyws puwybih gbup:
pwnudwunud:  Lhpljuw

Yhbwlynud Yunmgywsd £ 2-pn
hwpyp b Jwuwdp  3-pn
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Yhuwlwnnyg tpyne
dwutwgbupbipp
hwwnwlwgdwihu pwpn
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28 X12.4, 26 X12.04

Unwownlyynud £

Uunpwthlh swihtipny, nE$npdwghnu Yhuwlwnnygu Qbinwppniuhph
10 puinuiwy phy 8 | Cwduwjupwhl Yupwny puidwiquws aow | Pwdwnwn | wdupntnputu o) 276 765,600,000 |  1,322,400,000| 556,800,000 | JrAubIpUL <<
Swutiugbptn 2hunipyniu £: - Yhuwlwnnygp 2-pn nwhwpy YU pwnuwpwghunipejwu
quuynud | dhwudwt pwqiwptwlwpuwu whnwlwu Yndhunk
otuptipny yunniguywndws puwybih gtiup:
pwnwdwunu: Uwutwgtiupbpp
utipyw Jhbwlnud yunnigywd
U 2-pn hwpyh dwywpnuwyny
wnwug dwdlh:
Yhuwlhwnnygp  punyuwgus
t YEunpnuwlwu wugwupwhh
dwutwybuphg b npw tpynt
Gwlwwnubphu Yhg hwwuwp Unwownlynul £
htinwynpnipjudp h
nwlwuwgubiny
p. Uwpunp, nwuwynpyuwd, tiptipwlwu nidtinwig i
Uuwyup-Lnyuwih dwutwybuptiphg:: wohiwnwiplitin
] ;hnnné} s Ublnpnbwlwy dwutwgbupp [T Qbnunpnihph
-hn Uppwtgp hwnwlwgdnud Puw
pwp wywpunbi npuybiu dwpqubitnwpwu <L
1 hwugbinud guuyn Lwdwjupwjhu 50% 1100 2200 440,000,000 770,000,000 330,000,000
duﬂiw u:} mtljf:l Jupwihl | ninnuitlyniiwal £ 6.0 X 45.0 2 bl U puinuwpuiohunyejuil
it d sunhtipny, huy duwgws Jhgn nwnuiuwlw 2kup/ whnwlwu Yndhnk
hwdwihph hwunwlwgdnud I wal uwhuwlppwpwl
dwuuwzbupbip npjugdny 5.0 X6.00 L nUnngl50
9.0 X12.0 d swthbpny wowlipnh
pyhwplwuh wuwdwpn huwiduwp:
ohuntpyniu E:LbpYw Yhbwynud
Ywnnigyws £ hwdwihph
dwutwybupbipp 2 hwplyh
L PP YRR Lol
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(1 Yyhuwlywnnyg)t
Yhuwlwnnygp 2 dnunpny
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hwpyny pwnwhwny
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12 Pwpbywdnipjwu Lwidwjupwihu Ywnnigdws t 41 40% 394.56 1578.24 276,192,000 473,472,000 197,280,000
2+ wnwhuwnl YU pwnwipwghunipjwu
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<< Lnnnt dwpq

(42 Yhuwlwnnyg)

32868

7,545,486,250

10,520,265,750

2,974,779,500

hwuwpwlwlwu 9
(0 Yhuwlwnnyg)
o 22151 5041154750 | 6,994,394,250 [  1,953,239,500
(24 Yhuwlwnnyg)
Swpnu 1-3
pPwnwdwu
(17 Yhuwlwnnyg)
Yhuwlwnnygp
hwunwlwgdnud
ninnwulniuwal 13.8 X 22.8 d Unwowplyynud £
p. duiwding swihtipny <<UNPbL - UU>> Yhuwywnnygp Lnnnt dwpqubinwpuw
1| Supnu2, 06¢7, | cuntwpupugpu | PUeIRU ubnhugh dhwhwnl | wininpl 314.64 943.92 235,980,000/ 298,908,000 62,928,000 <<l
b gbup 13 ohuntpyniu £: Lbipyw hwugubi, npytiu pwnwpwhuntpjwu
a Yhbwynud hpwywuwgyws bu nwhwply puwytih whwnwlwu Yndhunb
hhdptinp, Uyninwyh hwplh 2bup:
wuwinbipu nu dwdlyp, wnwehu
hwpyh wwnbipp:
Yhuwlywnnygp hwnwlywgdnid
ninnuulniuwal 13.8 X 22.8 d Unwowplyynud £
o duwdnn swihtipny <<UNPPL- UU>> Yhuwlywnnygp Lnnnt dwpqubinwpuw
2 | supnt2, ©647, | cwtwjupugpy | WU vnhush dhuhwpb | wininpl 314.64 943.92 204,516,000 298,908,000 94,392,000 <l
ohuntpyntu £: Lkpyw yhwlynud hwugubi, npytiu pwnwpwhuntpjwu
puwykih otiup 14
hpwywuwgyws Gu hhdpbpp, nwhwply puwytih whwnwlwu Yndhunb
ulyninwjht bW wnwehtu hwpyh otiup:
wuwinbipu nu dwdlyp:
Yhuwlwnnygp <<Ujnuw>>
ubiphwjhu hwunwlwgdnud Unwwplynid £
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ubiphwjh hwwnwlwgdnid puipn
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L. dwuwadnp, uwlwnny Lnnnt dw Grnwpwu
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ulyninwht bW wnwehtu hwpyh HUD:
wuwwnbipt ni dwdlyp, Gplpnpn 2
hwpyh wwwnbinp:
Yhuwlwnnygp hwuinwlwgdnud
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L. dwuwanp, swihtipny <<UNPPL, - UU>> Yhuwlwnnygp Lnnnt dwpqubinwpwu
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Unwowplyynud £
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hwlwwgyud b Uynip pwqdwpé;w}{wpw'ﬂ whnwlwu Yndhunt
wnwght hwpyp L tpypnpn e
hwpyh wwwnbipp:
b Unuourlyind
p. Unbithwtiwust, nuuilniuwél 48.6 X14.4 L'h“‘““b‘”""”gz Lnnnt ‘j“;zq:ﬁ‘"“’“w“
40| 2 | Mpndtiplu thnnng, | Cwtugupuht | swihbpng dhwhwny ohtnuen | 15% | pugupup | P4SPEELIIWEU | goq 6 2099.52 524,880,000 664,848,000 139,968,000
tiptip hwpywuh pwnwpwghuntpjwu
puwybih obup 55 £ Lbpyw Jhéwynid dSwnl u b U Undhunt
hpwywuwgyws bu wnwehu puq wzphnlsywpw wotnuilut Yndhin

hwpyh wwnbipp:




Yhuwlwnnygp hwinwlwgdnud Unwownlyynud
p. Untithwuwlwt, Iwél 13.0X 25.7 4 swihtipny, Yhuwlwnnygu Lnnnt dwpqubnwpuwt
Mnuihuwlwu dhwhwpl ghunieyniu £ . wywpubip nputiu LCuu
41 pnnng, pulh Cwdwylipuyh Lt putynud 15% | pwdwpuwp bptip bl 334.1 1002.3 250,575,000 317,395,000 66,820,000 punupushlnEl
otiup 11 hpwywuwgywsd & wnwohu pwqiwptwlwpuwu whnwlwu Yndhunk
hwplyh wywwntipp: otiup:
Yhuwlwnnygp hwnwlwgdnid Unwowplyynd
p. Untthwuwywu, I wél 13.0 X25.7 d swhtipny Yhuwlywnnygu Lnnnt dwpqubinwpuw
Mnuihuwywu dhwhwply 2hunieyniu k: . wywpunbi| npwbiu (<N 1V}
nnng, puw nlw yhGulynu ntip hwpluwi punwpwphuntpjw
42 uwlb Lwidwjupwjhu Uk, 5 d 15% pwywpuwp tinbo h u 334.1 1002.3 250,575,000 317,395,000 66,820,000 u u
okiup 13 hpwlwuwgywsd k- wnwght pwquwplwlwpuwt whnwlwu Yndhunk
hwplyh wwwntipp: otiup:
<& Yninwyph dwpq
4058 819,020,000 1,402,592,000 583,572,000
(7 Yhuwlwnnyg)
Aol 1488 243,164,000 588,992,000 345,828,000
(3 Yhuwlwnnyg)
p- bnyuupn 1320 263,376,000 417,792,000 154,416,000
(2 Yyhuwywnnyg)
Yhuwlwnnygp qunuynud £
plwltiih gbuptipny
Yunniguwywunyws
pwnwdwuntd : Uju Unwowpyynud
hwunwlwgdnud Yhuwlwnnygu
bplwljwu puw 12:4X17.7 d suntipng wupwywpw wuipinhl i :’:nmwjﬂ; <
1 PRI RUR | ) ugupuiht shunyeniu £ Lbiplw 35% RUAWNWN | ugut, nputu 3| 219.48 660 142,662,000| 208,896,000 66,234,000 | 1HMATIOLD
N 18 3-pn YU pwnwpwhuntpjwu
Ypbwynud Yunnigqws t obuph hwpywuh fnwluit Yndhink
uynuinwihu W 1-htu hwipytiph pwqiwpuwlwpwu wonuly

wuinbipu nu dwdlybipu

wdpnnontpjwdp U 2-pn hwplyh
wuwwnbiph nt dwdltiph Ubd
dwup;

puwybih otiup:




Eplwujwu pwn .
N 18/1

Lwdwjupwhu

Yhuwlwnnygp hwinwlwgdnud
12.4 x17.7 d swihtipny
ohunipyniu E:LbpYw Yhwlynud
Ywnnigdwsd | gkuph uyninwyhu
hwpyp, 1-hule  2-pn
hwpytiph wwwbpp nu
Swdlyh uwibipp :

35%

wupwdwpwp
3-pn

Yhuwlwnnygu
wnwowpyynid £
wywpnpu
hwuguby, npybu 3
hwpywuh
pwqdwpuwywpwu
puwlbh otup:

Unwewpyynud £

219.48

660

120,714,000

208,896,000

88,182,000

YUnunwyph
dwpqubnwpwu <L
YU pwnuipwghunipjwl

whnwlwu Yndhunk
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q. Pwuwlu
(3. fuwswuinpwu 3
qutiynn
hwunhuntpyniuubiph
upwh

Lwidwjupwjhu

Yhuwlhwnnygp dhwhwply
pwpn hwunwywgdwihu
\nuSdwdp 27 X30 4

utippht pwny plip ntinwph

Ypw nbnuluwyyws wnwudhu

ohunipyniu

95%

wupwdwpwp
3-pn

puwybh otiup:

324,000,000

202,500,000

Lbipyw YhGwlynud Yhuwlwnnygu Ynwnwjph
p. Ajniptinuywu hpwywuwgyuwsd Gu 12.4x16.8 wywpuht Jwpqubttnwpwu <L
3(1 1 pwnwdwu Lwidwjupwjhu U hwunwlwgdwihu swihbpny | 12% pwlwpuwp: | hwuguby, npytu 3| 208.32 624.96 156,240,000 197,904,000 41,664,000 nau "
YU pwnuwpwghunipjwl
N6 40 ud hwuwnnipjwdp b/p hwpluuh Gunwlwu Yndhnt
hhdptipp: pwqiwptwlupwu “
puwytih obup:
Unwowpyynud
Lbipw Jhtwynud Yhuwlwnnygu Ynwunuw)ph
p. Ajnipbinuiuit hpwywuwgyws bu 12.4x16.8 wywpwht Swpqubtnwpwu <<
412 1 punwdwu Lwiwjupwjhu u hwinwlwgdwhu 12% pwywpwp | hwugut), npwytu 3| 208.32 624.96 156,240,000 197,904,000 41,664,000 hulcllll:{quwr;hbnlrajlub
N7 swthtipny 40 ud hwuwnnipjwdp hwplwuh whwnwlwu Yndhunk
t/p hhdpbipp: pwquiwpuwlupwu

Ynuwyph
dwpqubnuwpwu <L
YU pwnuipwghuntpjwl

whnwlwu Yndhunk




Yhuwlwnnygp GpYhwpyuup

qpbipt wwpunu 2huntpiniu
k

q. Rwuwlfu
dbl dnunpny gnbipb
20| 2 M- Uluilh 2 Lwdwjupwih  |wywpuiniu Gpyhwpluup 12.5] 95% wlipuunun
Gpwdonulwu 3-nn
n x 164 hwunwlwqgdwhu
inng swithtpny ghunipyniu :
Yhuwlwnnygpp dhwhwpl dby

dnunpny hwinwlwhdnud
2| 3 bphs{mﬁmﬂumu Monwguy | MWUUNLWEL 124X 2241 o wup:itnwp
s d gwihtipny dbY hwplywuh wutnhéwi:

<< Shpwlh dwng
(30 Yhuwljuinnyg)

6,005,600,000

140,000,000

60,000,000

Ynunwyph
dwpqubnwpwyu <L
YU punwpwhuntpju

whnwlwu Yndhnk

124,992,000

83,328,000

Ynuwyph
dwpqubitnwpwu
Lwuwfuh
hwdwjupwwybnwpwu

9,045,400,000

3,039,800,000

Swdlh:

<<Uth>> 3368 755,125,000 |  1,066,375,000 311,250,000
Pwnwiwu
(3 Yhuwlunnyg)
t"uh' I- Hap h ‘u r&'n"‘ u uE
nuulyniuwal 12,5 X 47.0 nuuinlyne
. Yhuwywnnygp Shpwyh
U suthtipny 2htinipinit £ wywpw wlwnwnby npybu dwpqubnwpwy <<
1] 1 N132-4p Cwdwgupught - |[Ubipbuygnutu Guinigus £ gbuph| 30% | FUUUTHR MUEL ANWEL - a7 g 1763 381,875,000 558,125,000 176,250,000 | b MAHEIwn
2-pn 3 hwplwuh YU pwnwpuwghuntpjwu
uynunp, wnwght hwplp b 2-pn
h il U pwquwpuwlwpwu whnwlwu Yndhnk
wnlh wunbnl wewig puwltih gbup:




Yhuwlwnnygp hwnwlwgdnid

Unwowplynud £

ninnuiulniuwsl 15.0 X 17.0 d Yhuwlywnnygp Chpwyh
swithtipny ghunipyniu k: . pwywpwp [ wjwpwnb] npybu dwpqubinwpwu <L
-2- 765
N 13-2-2 Cwidwjupwyhu Lty Gmgdus & ottiph 20% 2m bptsp hunlutih 255 191,250,000 242,250,000 51,000,000 / pumupwohlnppl
ulyninp U wnwehu hwplyp pwquwplwlwpuwt whnwlwu Yndhnk
dwuwdp wnwug dwdlh: puwybih gtup;
Yhuwlwnnygp
hwwnwlwgdnud
ninnuuyniuwsl  14.0 X 20.0
d swihbpny ghunieyniu :
Lbipywynwiu Yunigws k gkuph
ulninp b wnwohu hwplyh Unwouwnyynud £
wpwnwpht wwinbiph uwibipp: Yhuwlunnygp Chpwyh
13-2.5¢ Cwdwjupugpt | LUnuih b wnwight huplh | pgg, | Pubnun | wdunaby npubu oo 840 182,000,000 | 266,000,000 84,000,000 | Jnaubtnwi <<
wwnbpp hpwlwuwgyws bu 2-pny tiptip hwpywuh YU pwinwpwzhunipjwl
dhwény| bplwpepbunnuhg L pwqiwplwlupwl whnwluwt Yndhinb
hwywpnyh tplwpeptinnut puwyih 2tup;
wuwubiubipny: Ywnnygh
pypnpn huplh wwnbipu
hpwywuwgyws bu
wnibwpwiph Eiplzbipn
o TN
Unuquid /2 2592 604,800,000 | 820,800,000 216,000,000
(2 Yhuwlunnyg)
Yhuwlwnnygp hwuinwlywgdnud
ninnuulniuwal 12.0 X 36.0 Unwownlyynud
o swithbpng ghunuejnit k: Yhuwlunnygp Shiuwlh
Ubipyuw Jhdwynud . pwywpuwp | wdwpwnb) npubu dwpqubtnwpwu <L
- 12!
p/2 72 w Cwdwylipuyh hpuwlwbugduws b obuph 15% 2m bptsp husnlutih 432 96 324,000,000 410,400,000 86,400,000 |/ pumupuhunph
Yhuwuyninp U dwuwdp pwqiwptwlwpuu whnwlwu Yndhnk
wnwght hwplyh wwwnbipp puwytih gbup;
wnwug dwdlh:
Yhuwlwnnygp hwinwlywgdnud Unwownlyynud
12.0 X 36.0 d swihbipny, Yhuwlywnnygp Thpwyh
2huntpyniu £ Lphuw Jhbwlynud 5 pwywpup wywpubp nputu dwpqubtinwpwu <L
p/27-2p Lwdwjupwjhu hpuwlwwgyws £ sbuph 25% 2pn inbip hwpyuiuh 432 1296 280,800,000 410,400,000 129,600,000 YU punuwpuishtnipjwl
wnwght hwpyp U dwuwdp 2- pwqiwplwlwpuwu whnwlwu Yndhwnk
nnhupyp puwytih 2tup;
Unip-2
10080 1,929,600,000 2,980,800,000 1,051,200,000

(5 Yhuwlwnnyg)




Yhuwlwnnygp

hwunwlwgdnud Unwownlyynud £
ninnuuyniuwal Yhuwlywnnygp Chpwyh
12.0 X36.0.4  swihtipny pwywpuwp | wdwpnb) npubu dwpqubtinwpwu <L
p/2 42 Cwdwjupwjhu Ayt £ Ubplyus St 2 bptip hupluh 432 1296 324,000,000 410,400,000 86,400,000 | |\ o\ wpughtnppal
hpwywuwgyws bu okuph pwqiwptwlwpuwu whnwlwu Yyndhnt
Yhuwulyninp b dwuwdp puwytih gtup;
wnwght hwplyp:
Hhuwluinnygp Unwownlynud £
hwnwlwgdnud
Yhuwywnnygp Chpuiyh
nuulniwal wywpw wywpub npytu dw Gonwpuwu <L
/242 % Cwdwjupuy | 12.0 X36.0.4  swihbipn puidwpuin | wiwpinby npuy 432 1296 324,000,000| 410,400,000 86,400,000 | | MU
P2 Jupwy H n
u Uk Ub 6 g 2-pn tinbip hwiplwuh YU pwnwpuwghuntpejwu
ahunipjnil £: Ll yhbuwln. pwquwplwlwpuwt whnwlwu Yndhnk
hpwlwuwgywsd Gu okuph Ul Phup:
Yhuwuyninp wnwug Swdyh: a I 2H0p;
Yhuwlwnnygp
hwunwlwgdnud Unwownlyynud £
ninnuuyniuwsl Yhuwlwnnygp Chpwyh
24.0 X 48.0 0 swthtipny pwywpuwp | wdwpnb) npuybiu dwpqubtinwpwu <L
p/p 4-3w Cwdwjupwhu JHumpnt £ Ubpluw 2m bptip huplyuh 1152 3456 460,800,000 864,000,000 403,200,000 PPy
Yhbwynud hpwywuwgyws bu pwqiwptwlwpuu whnwlwu Yyndhnt
2tuph Bpynt huipytipp, puwyih 2tup;
dwuwdp wnwug dwdlh:
Yhuwlwnnygp
hwunwlwgdnud Unwownlyynud £
ninnuuyniuwale Yhuwlywnnygp Thpwyh
P2 4-3p Zwdwyupuyht 240X 4800 sunhbpnd pusunun | Gl nputu | 3456 633,600,000 | 1094,400,000 | 460,800,000 | tWndutul <<
2hunyejniu £: Lepyw Jhéwynid 2-pn tiptip hwpywuh YU pwnwpwghunipjwu
hpwlywuwgyws Gu gkuph 1-hu pwquiwptwlwpwu whnwlywu Yndhnb
U 2-pn hwplytipp dwuwdp puwltiih gbup;
wnwua dwélh:
Yhuwlwnnygp Unwgwiplynud £
hwunwlwgdnud Shpulh
ninnulniwal 12.0 X24.0.4 —__— “h““‘;';“":ugﬂhu e
p/g 62w Cwdwjupuht | swihbipny ghtunieyniu £ Lbipyuw wlpwdupwn | wiwnubi npuy 288 576 187,200,000 201,600,000 14,400,000 | MW
dh6ulnud hpwlutiwgduws by 3-pn Gpyhwplywuh YU pwnwpwhunipjwu
pwqiwplwlwpuwu whnwlwu Yndhwnk
otiuph 2 hwplbipp wnwug Ll obup:
swsl: puwytih 2tup;
Uuh Undphtiuin 2268 415,800,000 718,200,000 302,400,000

(1 Yhuwlwnnyg)




Yhuwlwnnygp hwuinwlwgdnud
ninnuulniuwsl  14.0 X 54.0
d swihtipny Gpkip dnunpny, Unweuplymud £
nwhwplwuh ghuniejniu k, uin
ool £ Al Yhuwlunnygp Shpuwlh
u|un|  Lhupuwut Cwtujupuht | punuidwund: bplpwuindhg | 705 | PYdwnwn | wdwpnbl npub el 2268 415,800,000 718,200,000 302,400,000 | JWnautnwpuiL <<
hbtn HbU 2-pn tiptip hwplwuh YU pwnwpuwghunipjwu
2tuph hwpluwjunigniup
pwqiwptwlwpuwu whnwlwu Yyndhnt
hotigyi £ dhusli 3 hwipl U uwbih gbup;
hpwluwwgyt £ npny PRGN 2508
nidtinugdwu wpluwwnwuptip:
Swuhpp pwgwlwynud £:
. ui:zmunug) 1632 285,600,000 | 489,600,000 | 204,000,000
Yhuwlwnnygp
hwunwlwgdnud
nuuitlniuwal 12.0 X 18.0 Unwauiplunud &
Yhuwyunnygp Chpwyh
- Upphy dswihtipny 4 hwplwuh,
pwywpuwp wywpunb nputiu dwpqubtinwpwu <L
12] 1 Lwdpwpeh Lwdwjupwihu | uyninny puwltith ohunieyniu £: | 65% 216 864 151,200,000 259,200,000 108,000,000
i 031 b, 2-pn 4 hwplywuh YU pwnwpuwghunipejwu
pPwnwdwu pyw Yyhtwynud Yunnigyud
pwqiwptwlwpuwu whnwlwu Yyndhnt
L obuph 4 hwpyu wnwug
wuithph U puwybih gbup:
uwunnwpwgqntyubiph:
Yhuwlwnnygp
hwunwlwgdnud
nipnwuyniuwsl  12.0X16.0
4 swiptipny 4 hwplwuh Unwowplynud £
p. Unphy uyninny puwlbiih ohunieyniu Yhuwyunnygp Ghpwyh
3] 2 Luwdpwph Cwduwjupugpu | FUEUw dnGulnuigipn e, puiduinuin | widuipBl angEu | o) 768 134,400,000 230,400,000 96,000,000 | Jnaubtnuiui <<
punuiwy 032 Ywnnigyws 4 hwpyh 2-pn 4 hwpywuh YU pwnwpwhuntpjwu
pwpapnipjwdp: Ywnnigwd sk pwqiwplwlwpuwt whnwlwu Yyndhnt
wnwuhpp, nbnunpyws sku puwytih gtup:
|nwwdnunubipp, ubipphu
hwpnwpdwt wptuwnwuputipp
Yuwwnwplws sku:
q. <nnnd
2 Yhuwlunnyg)i 752 188,000,000 338,400,000 150,400,000
Yhuwlwnnygp hwuinwlwgdnud
nipnuulniuwale Unwowplyynid £
q <nnnd 10-pn, 12.5 X 40.0 d swthtipny Yhuwlwnnygp Chpwyh
thnn dhwhwpy ghunipyniu k: 5 pwywpuwp wywpunbi npuytiu dwpqubtinnwpwu <L
141 Subljuupabah Zwdwylipwht bl dhéwlynud 25% 2 bl huspluih 500 500 125,000,000 225,000,000 100,000,000 | punupuRLm Py
wuwywpun 2y wlwuwgywd bu ok, dwuluuwpuntq 50 Gunwlwu Yndhnk
nwn 2Gtp n 9 2alp Wunptnaq W
hhdptipp W dwuwdp wnwehtu tpbfuwih hwdwp:
hwpyh wwwnbipp:




Yhuwlwnnygp hwnwlwgdnid
Fwal 6.0X14.040 L
12.0 X 14.0 d swthbpny

hwindwdwdwutiphg

Unwowplyynid £
Yhuwlwnnygp

Shpwlh

5] 2 ¢ I BB gy | PUMUWOWS hpuidquinwh e pwduun e b | 252 252 63,000,000 113,400,000 50,400,000 | Jlunaunupuil <<
33 wuwywpwn ghunipiniu k: 2-pn bl h u YU pwnwpuwghuntpejwu
Ubiplw yh6uwlnid Ul‘ h‘““““‘ : whnwlwl Yndhint
hpwluwuwgyws & 2hunipjwt pUwEIn nni;
hhdptipp W wnwehu hwpyh
wuwtnbipp:
q. Nuybhwuly
2 Upuwyunnyg) 528 132,000,000 184,800,000 52,800,000
Yhuwlwnnygp
hwunwlwgdnud I wal
6.0X10.04d U
6.0 X12.0 4 swthtipny, bpynt Unwownlyynud £
g. Nulybhwuy hwindwswdwubilihg Yhuwlywnnygp Chpwyh
N 20-pn pwnlugws, tipynt dninpny’ 5 pwywpuwp | wdwpnb) npubiu dwpqubtinwpwu <L
16 g Cwdwjupwhu uymany puwlsh sl 20% 2m pugluptuuput | %2 264 66,000,000 92,400,000 26,400,000 |/ ol
N 19 hwplywuh ghuntejnu £ Gpyhwplywuh whnwlwu Yyndhnt
Lbipyw yhbwlynud puwybih nn;
hpwljuwtiugyud & obuph
uyninp b wnwohu hwplyu
wnuwug dwdljh:
Yhuwlwnnygp
hwnwlwgdnd T wal 6.0
X10.0d L 6.0 X
1206 swiptipny , bpynt Unwowinlnud & .
g. Nulybhwuy hwnjwdwdwutiphg Yhuwyunnygp finuiin
\ pwywpuwp | wdwpwnb) npubu dwpqubinwpuwu - &L
17 N 20-pn Lwidwjupwjhu pwnyugwd tpynt dnunpny’ 20% 132 264 66,000,000 92,400,000 26,400,000
thnnngh N 9 Uynind, Uy hupluih 2-pn pwqiwplwlwpuwt YU pwnwpuwghunipjwu
puwbh L}Lunm]g E: Ubplu pyhwplwuh whnwlwu Yndhnk
Yhbwlynud Yunmgyws | puwEIn nnd;
otiuph  ulninp b wnwehu
hwplyp wnwug dwdlh:
q. Rliph
(2 Ypouwtyunnyg) 546 136,375,000 190,925,000 54,550,000
Unwowplyynud £
Yhuwluwnnygp
Yhuwlwnny
q. Rtiph hEmLuuqluqé)Jngfi gt Wl Chnuiyh
18 Ywpuwjwinwl | <wdwjupught NN il 35% pw;{u‘nw” hbp"hmn““mhn 87.75 176 43,875,000 61,425,000 17,550,000 dw"q;';m”r:pwu’
Jbup 6.5 X 13.5 U swihtipny ™ Eee e rh
dhwhwpl  shtnipyn £ opjtiywn /hwdwjuph hwdwjupwwybnwpwu
Ywnhputiph

hwdwp/:




:El;tuutn:;ig Unwownplyynud |
q. Rtiph nipnuiuyniuwsl llhutultunm]gi g Chr;wl{h u
19 Gulnipught | Cwdwjupwht 10.0 X 18.5 § swihtipny pustlunuin | wnub anueu | ol 370 92,500,000 129,500,000 37,000,000 | “UMAHEILNLL,
Yeutnpnt . 2-pn tinyhwpyuwuh Lbphh
nn ohuntpyniu k: Lpyuwynudu
dgwlnipwlyhu hwdwjupwwybnwpwu
wnlw k£ 2bUph wnwohu Bwnnnt:
hwplyp wnwug Swdlh: T
o (oD 6342 1,558,300,000 |  2,255,500,000 697,200,000
(11 YpuwYwnnyg)
Yhuwlwnnygp hwnwluwgdnud Unwownlynud £ c
Twal8.0X22.0 0L 8.0X Yhuwlwnnygp huih
Upuntpyui 12.0 d swihbipn unipjniu k: wywpw wlwpwnb| npwbiu dupqubnuinu
20 Awdpuwpul Cuugupugpu | 1%0 4 sthtinnd ghntejnd b: pudunun | wduiput npu 272 544 136,000,000 190,400,000 54,400,000 < uu
Lbipyw yhéwynwd  Yunnigud 2-pn pYhwplwuh
2w pwnwpwhuntpjwu
I gtiuph dtyhg GpYynt hwplybipp pwqiwptwlwpuwu b U Undhunk
dwutwyh: puwytih wniu: wenului Yndhin
Yhuwlwnnygp gniquhbin
nwuwynpnipjwdp bpyne
hhdptipp L
wnwpptip dwutwybuptiphg, Uyninp Unweuiplynud £
pwnyugws hwinwluwgdnid wdwnuw Yhuwlunny Chpwlyh
Utunipjwu ninuuyniuwale " l{zl" n LL Jgi dwpqubitnwpwu
2 Awdpwpjuwl Cwdwupught | 8.0X22.0d U 8.0X12.04 h““ﬂ ““é“‘”:' L ””;4 Yo 544 136,000,000 190,400,000 54,400,000 Pt
18 w swthtipny ghunteyniu £; Lepyw denh nuhuipluuh pwnwpwhuntpjwu
hwplybphup | pwqdwpuwlywpwu
yhwynui dwuuwpbiuptipp LN wwlbih nnds: whwnwlywu Yndhunk
Ywnnigyws kU dklhg bnlne u psfl nun |- pulep nnds;
hwnliph pwpépnipjwdp’ n
hhduwlwunw wnwug dwdyh:
Yhuwlwnnygp  gqniquhtin
nwuwynpnipjwdp tiplnt Yhuwuyninut
wnwppbip dwuuwpbuptiphg, ph yhtwyp Unwowplyynud £
pwnyugwsd hwinwlugdnid pwywpup Yhuwlywnnygp Chnuilih
Ufuntpyuil ninnuuyniuwsl 2-pn. wywpubp npytiu Jwpqufununuil
22| 3 Awdpwpjwl Cwdugupughty oL 8.0 X 12.0 6 bl bplhunlubh 272 544 136,000,000 190,400,000 54,400,000 <cuu
2w pwnwpwhuntpjwl
swithtipny ghunteyniu £ Lkpluw hwplu pwqiwptwywpuu funwlw Yyt
Yhbwynud dwutwgbiuptipp wupwywpwnp | puwybh wnw; “
Ywnnigyws Bu dkly hwpyh 3-nn
pwpapnipjwdp::




Yhuwlwnnygp gniquihtin
nwuwynpnipjwdp Bplnt
wnwppbip dwutwpbuptiphg, Yhuwitiynintia
ph yhtwlp | Unwowplynud £
pwnugwsd hwinwlywgdnid Thpwyh
Utunipjwu ninnuiuyniuwale pzun{mpmn qhumq;unmjgnb dwpqubitnwpwu
23| 4| Awdpwpuy Cwdwgupught | 8.0X22.0 4L 8.0X12.04d | 30% ’”S’ hn”“ L“q“:‘“mhl il LL 272 544 136,000,000 190,400,000 54,400,000 < uu
23w swithbipny ghunieyniu £; Lbplw dnh puqwplwluipu pwnwpwhuntpjwu
yhwynud Yunnigws k hwnltinn bnlhunyuith whwnwlwu Yndhnk
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pwp&pnipjwidp wuwinbipp’ WELQJLZ L:h “Awu Jungnipjniu
wnwug dwdlh: 254p:
Qynuiphh hhu Yhuwlwnnygp 12.4x24.4 4 Ywnnygu wyjwpnby Chpwyh
onwuwywlwjwuh swihbipny ghuntpejnuu k: npubiu dwpqutitnwpwu <«
10 pwnwdwuntd Mbnwywu Ppwlwuwgyws tu wnweohu | 30% pwywpuwp tnyhwpywuh, 302.56 605.12 121,024,000 211,792,000 90,768,000 [ 4U whiwnwlwu gnyph
quuynn $nudph hwpyp b dwuwdp  Gplypnpn hwuwpwlwlwu Ywnwywpduwu
Ywjwu hwpyh wpunwphu wuwwnbpp: Ywnnyg: Jupgnipyniu








































































































































